
Μακροπρόθεζμες Υποτρεώζεις







Λύση
(1)$1.000.000 * 0,99 = $990.000. Έθπησζε $10.000.
(2)$1.000.000 * 1,00 = $1.000.000 Σηελ νλνκαζηηθή Αμία. 
Φσξίο έθπησζε ή ππεξηίκεκα.
(3)$1.000.000 * 1,01 = $1.010.000. Υπεξηίκεκα $10.000

ΔΟΚΙΜΑΣΤΕ ΤΟ! 
ΜΑ5, Α6

Μηα αλώλπκε Εηαηξεία ζρεδηάδεη ηελ έθδνζε

καθξνπξνζέζκσλ νκνινγηώλ αμίαο $1.000.000.

Αλάινγα κε ηηο ζπλζήθεο ηεο αγνξάο. Οη

νκνινγίεο κπνξνύλ λα εθδνζνύλ ζην (1) 99, (2)

100 ή (3) 101. Να ππνινγίζεηε ην πνζό πνπ ζα

εηζπξάμεη ε εηαηξεία ζε θάζε πεξίπησζε. Να

δείμεηε αλ ε έθδνζε είλαη ζηελ νλνκαζηηθή

ηηκή, ππέξ ή ππό ηα άξηην, θαζώο θαη ην πνζό

ηεο έθπησζεο ή ηνπ ππεξηηκήκαηνο
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(2)$1.000.000 * 1,00 = $1.000.000 Σηελ νλνκαζηηθή Αμία. 
Φσξίο έθπησζε ή ππεξηίκεκα.
(3)$1.000.000 * 1,01 = $1.010.000. Υπεξηίκεκα $10.000

ΔΟΚΙΜΑΣΤΕ ΤΟ! 
ΜΑ5, Α6

Μηα αλώλπκε Εηαηξεία ζρεδηάδεη ηελ έθδνζε

καθξνπξνζέζκσλ νκνινγηώλ αμίαο $1.000.000.

Αλάινγα κε ηηο ζπλζήθεο ηεο αγνξάο. Οη

νκνινγίεο κπνξνύλ λα εθδνζνύλ ζην (1) 99, (2)

100 ή (3) 101. Να ππνινγίζεηε ην πνζό πνπ ζα

εηζπξάμεη ε εηαηξεία ζε θάζε πεξίπησζε. Να

δείμεηε αλ ε έθδνζε είλαη ζηελ νλνκαζηηθή

ηηκή, ππέξ ή ππό ηα άξηην, θαζώο θαη ην πνζό

ηεο έθπησζεο ή ηνπ ππεξηηκήκαηνο.



Μηα αλώλπκε εηαηξεία
εμέδσζε 20-εηέο νκόινγν
αμίαο $500.000 κε θαηαβνιή
ηόθνπ ύςνπο $16.000 δύν
θνξέο ην ρξόλν. Τν επηηόθην
ηεο αγνξάο είλαη 6%. Να
ππνινγίζεηε ηελ παξνύζα
αμία ηεο έθδνζεο.

ΛΥΣΗ

Παξνύζα αμία 40 πεξηνδηθώλ πιεξσκώλ κε 3%: (από Πίλαθα 2 Παξαξηήκαηνο)
$16.000 * 23,115      =    369.840

Παξνύζα αμία πιεξσκήο ζην ηέινο 40 πεξηόδσλ κε 3% (από Πίλαθα 1 Παξαξηήκαηνο):
$500.000 * 0,307     =     153.500

Παξνύζα αμία νκνιόγνπ                    =  $ 523.340

=====

23,115

0,307
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What Is a Bond Issue?

A bond issue is the total value
of bonds issued at one time

Prices of Bonds
Stated in terms of a percentage of face 
value

• Bonds selling at 100
• Sell at face or par value

• Bonds selling above 100
• Sell at a premium

• Bonds selling below 100
• Sell at a discount

For example, a 

$1,000,000 bond issue 

could consist of one 

thousand, $1,000 bonds

Bond rate 

higher than 

Market rate

Bond rate 

below the 

Market rate



Katakis Corporation issues $100,000 of 9 percent, 5-year

bonds at 96.149 on January 1, 20x4, when the market rate

is 10 percent.

Record the issuance of the bonds at a discount:

20x4    

Jan. 1  Cash 96,149  

 Unamortized Bond Discount 3,851  

  Bonds Payable  100,000 

   Sold $100,000 of 9%, 5-year 

bonds at 96.149 

  

      
 

Bonds Issued at a Discount



Interest and Amortization of a Bond
Discount: Effective Interest Method



Katakis Corporation issues $100,000 of 9 percent, 5-year 

bonds for $104,100 on January 1, 20x4, when the market 

rate is 8 percent.

Record the issuance of the bonds at a premium:

20x4    

Jan. 1 Cash 104,100  

  Unamortized Bond Premium  4,100 

  Bonds Payable  100,000 

   Sold $100,000 of 9%, 5-year 

bonds at 104.1  

($100,000 x 1.041) 

  

      
 

Bonds Issued at a Premium



Interest and Amortization of a Bond 
Premium: Effective Interest Method



Record the retirement of the bonds:

Katakis Corporation can call or retire at 105 the $100,000 of bonds it 

issued at a premium (104.1).  It decides to do so on July 1, 20x7.  The 

entry for the required interest payment and amortization of the 

premium has already been made.

The loss occurs because the call price of the bonds is greater than the carrying value

20x7    
July 1 Bonds Payable 100,000  
 Unamortized Bond Premium 1,447  
 Loss on Retirement of Bonds 3,553  
  Cash  105,000 
   Retired 9% bonds at 105   
 

Callable Bonds Illustrated



Katakis Corporation issued $100,000 of convertible bonds on January 1, 

20x4, that can be converted to 40 shares of common stock for each 

$1,000 bond. The bondholders decide to convert all the bonds to $8 par 

value common stock on July 1, 20x7.

Record the bond conversion:

No loss or gain is recorded because the bond liability and the associated unamortized 

discount or premium are written off the books.

20x7    
July 1 Bonds Payable 100,000  
 Unamortized Bond Premium 1,447  
  Common Stock  32,000 
  Additional Paid-in Capital  69,447 
   Converted 9% bonds payable into $8 

par value common stock at a rate of 
40 shares for each $1,000 bond 

  

 

Convertible Bonds Illustrated

40 x $100,000 / $1,000 

= 4,000 shares x $8 = 

$32,000



Την 1η Ιουνίου, μια ανώνυμη

εταιρεία εκδίδει 20–ετές ομόλογο

αξίας $4.000.000, με επιτόκιο 8%

στο 97. Ο ηόκος καηαβάλλεηαι δύο

θορές ηο τρονο, ζηις 31 Μαΐοσ και

ζηις 30 Νοεμβρίοσ. Η λογιζηική

περίοδος ηης εηαιρείας λήγει 30

Νοεμβρίοσ.

1. Φρηζιμοποιείζηε ηη μέθοδο

ζηαθερής απόζβεζης και

καηαρηήζηε ηις ημερολογιακές

εγγραθές για ηην 1η Ιοσνίοσ και 30

Νοεμβρίοσ.

2.Φρηζιμοποιείζηε ηη μέθοδο ηοσ

Αποηελεζμαηικού επιηοκίοσ.

Καηαρηήζηε ηην ημερολογιακή

εγγραθή για ηις 30 Νοεμβρίοσ. Τα

σπόλοιπα δεδομένα είναι ηα ίδια,

εκηός από όηι ηο επιηόκιο αγοράς

είναι 9%.

ΛΥΣΗ
1.                                                                                               Φ.                Π.
Ινπλ. 1   Τακεηαθά δηαζέζηκα                                               3.880.000

Έθπησζε Οκνινγηώλ Πιεξσηέσλ                            120.000
Οκνινγίεο Πιεξσηέεο                                                     4.000.000

Έθδνζε νκνινγηώλ 20-εηνπο δηάξθεηαο
αμίαο $4.000.000 κε επηηόθην 85 ζην 97
$4.000.000 x 0,97 = $3.880.000

Ννεκ.30   Τόθνη – Έμνδα                                                       163.000
Έθπησζε Οκνινγηώλ Πιεξσηέσλ                                              3.000
Τακεηαθά δηαζέζηκα                                                              160.000

Καηαβνιή 6-κεληαίνπ ηόθνπ ζηνπο νκνινγηνύρνπο 
θαη απόζβεζε ηεο έθπησζεο 20-εηνύο νκνιόγνπ
κε επηηόθην 8%
$120.000/40  πεξίνδνη = $3.000   
$4.000.000  x 0,04 = $160.000

2.
Ννεκ.30     Τόθνη -Έμνδα                                                      174.000 

Έθπησζε Οκνινγηώλ Πιεξσηέσλ                                         14.600   
Τακεηαθά δηαζέζηκα                                                           160.000

Καηαβνιή 6-κεληαίνπ ηόθνπ ζηνπο νκνινγηνύρνπο 
θαη απόζβεζε ηεο έθπησζεο 20-εηνύο νκνιόγνπ
κε επηηόθην 8%
$3.880.000/0,045 πεξίνδνη = $174..600   
$4.000.000  x 0,04 = $160.000



Την 1η Ιουνίου, μια ανώνυμη

εταιρεία εκδίδει 20–ετές ομόλογο

αξίας $4.000.000, με επιτόκιο 8%

στο 97. Ο ηόκος καηαβάλλεηαι δύο

θορές ηο τρονο, ζηις 31 Μαΐοσ και

ζηις 30 Νοεμβρίοσ. Η λογιζηική

περίοδος ηης εηαιρείας λήγει 30

Νοεμβρίοσ.

1. Φρηζιμοποιείζηε ηη μέθοδο

ζηαθερής απόζβεζης και

καηαρηήζηε ηις ημερολογιακές

εγγραθές για ηην 1η Ιοσνίοσ και 30

Νοεμβρίοσ.

2.Φρηζιμοποιείζηε ηη μέθοδο ηοσ

Αποηελεζμαηικού επιηοκίοσ.

Καηαρηήζηε ηην ημερολογιακή

εγγραθή για ηις 30 Νοεμβρίοσ. Τα

σπόλοιπα δεδομένα είναι ηα ίδια ,

εκηός από όηι ηο επιηόκιο αγοράς

είναι 9%.

ΛΥΣΗ
1.                                                                                               Φ.                Π.
Ινπλ. 1   Τακεηαθά δηαζέζηκα                                               3.880.000

Έθπησζε Οκνινγηώλ Πιεξσηέσλ                            120.000
Οκνινγίεο Πιεξσηέεο                                                     4.000.000

Έθδνζε νκνινγηώλ 20-εηνπο δηάξθεηαο
αμίαο $4.000.000 κε επηηόθην 8% ζην 97
$4.000.000 x 0,97 = $3.880.000

Ννεκ.30   Τόθνη – Έμνδα                                                       163.000
Έθπησζε Οκνινγηώλ Πιεξσηέσλ                                              3.000
Τακεηαθά δηαζέζηκα                                                             160.000

Καηαβνιή 6-κεληαίνπ ηόθνπ ζηνπο νκνινγηνύρνπο 
θαη απόζβεζε ηεο έθπησζεο 20-εηνύο νκνιόγνπ
κε επηηόθην 8%
$120.000/40  πεξίνδνη = $3.000   
$4.000.000  x 0,04 = $160.000

2.
Ννεκ.30     Τόθνη -Έμνδα                                                      174.600 

Έθπησζε Οκνινγηώλ Πιεξσηέσλ                                         14.600   
Τακεηαθά δηαζέζηκα                                                           160.000

Καηαβνιή 6-κεληαίνπ ηόθνπ ζηνπο νκνινγηνύρνπο 
θαη απόζβεζε ηεο έθπησζεο 20-εηνύο νκνιόγνπ
κε επηηόθην 8%
$3.880.000 x 0,09 x 0.5 = $174.600   
$4.000.000  x 0,04 = $160.000





Πίνακασ Τόκων και Υπερτιμήματοσ Ομολογίασ: Μζθoδοσ 
Αποτελεςματικοφ Επιτοκίου



Πίνακασ Τόκων και Υπερτιμήματοσ Ομολογίασ: Μζθoδοσ 
Αποτελεςματικοφ Επιτοκίου







$1.000.000 x 

.08 x 3/12

$1.000.000 x 

.08 x 6/12







Answer

Expense

Amortis.Prem. Cash/Int.Payab.



Answer (cont.)

Expense Amortis. Disc.

Cash/Int.Payab



Answer (cont.)

Ten years later: half of the 

premium has been amortised



Answer (cont.)

Difference as 

paid in capital



Answer (cont.)



Interest and Amortization of a Bond 
Discount: Effective Interest Method



 

 

 A B C D E F 

 
 
 

Semiannual 
Interest 
Period 

 
 

Carrying 
Value at 

Beginning of 
Period 

Semiannual 
Interest 

Expense at 
10% to be 
Recorded 
(5% x A) 

Semiannual 
Interest to be 

Paid to 
Bondholders 

(4.5% x 
$100,000) 

 
 

Amortization 
of Bond 
Discount 
(B – C) 

 
Unamortized 

Bond 
Discount at 

End of Period 
(E – D) 

 
 

Carrying 
Value at End 

of Period 
(A + D) 

0         $3,851  $96,149  

1 $96,149  $4,807  $4,500        
 

Bond Amortization – effective Interest 
Method

Column B – Use market interest rate  

($96,149 x .10 x 6/12 = $4,807)

Column C – Use face interest rate on bond 

($100,00 x .09 x 6/12 = $4,500)

Column A
Carrying value = 

Face value –
Unamortized bond 

discount



Bond Amortization – effective Interest 
Method

 

 

 A B C D E F 

 
 
 

Semiannual 
Interest 
Period 

 
 

Carrying 
Value at 

Beginning of 
Period 

Semiannual 
Interest 

Expense at 
10% to be 
Recorded 
(5% x A) 

Semiannual 
Interest to be 

Paid to 
Bondholders 

(4.5% x 
$100,000) 

 
 

Amortization 
of Bond 
Discount 
(B – C) 

 
Unamortized 

Bond 
Discount at 

End of Period 
(E – D) 

 
 

Carrying 
Value at End 

of Period 
(A + D) 

0         $3,851  $96,149  

1 $96,149  $4,807  $4,500  $307  3,544  96,456  
 

Discount amortized = 

Effective interest expense –

Actual interest payment to 

bondholders 

($4,807 – $4,500 = $307)

Carrying value at beg. of 

period + Amort. during the period 

($96,149 + $307 = $96,456)

Bond discount at beg. of period –

Current pd amort. ($3,851 – $307 = $3,544)



20x4    
July 1 Bond Interest Expense 4,807  
  Unamortized Bond Discount  307 
  Cash (or Interest Payable)  4,500 
   Paid (or accrued) semiannual interest 

to bondholders and amortized 
discount on 9%, 5-year bonds 

  

 

Record first semiannual interest payment and 

amortization of bond discount:

Bond Amortization – effective Interest 
Method





Answer - Premium Amortisation



Answer – Premium Amortisation

8,000,000 x 

1.025



Answer – Discount Amortisation

(B – C)



Answer – Discount Amortisation

8,000,000 x 

0.975





Answer – Premium Amortisation with 
Effective Interest



Answer – Discount Amortisation with 
Effective Interest

Discount



Answer (cont.)

1 6.156.000

156.000

6.000.000

1 3.928.000

72.000

4.000.000

Unamortized Bond Premium

Unamortized Bond Discount

20x7

Sold 9.2%, 10-year bonds at 98.2

Cash

Mar.

Bonds Payable

Cash

Bonds Payable

Sold 9.9%, 10-year bonds at 102.6

Jan.

$6,000,000 

x 1.026

$4,000,000 

x 0.982



Answer (cont.)

30 289.332

7.668

297.000

( $6.000.000 x 0,099 x 6 / 12 )  –

( $6.156.000 x 0,094 x 6 / 12 )  =

$297.000 –

1 186.580

2.580

184.000

( $3.928.000 x 0,095 x 6 / 12 )  –

( $4.000.000 x 0,092 x 6 / 12 )  =

$186.580 –

June

Paid semiannual interest on 9.9%, 10-year

$184.000

bonds and amortized the discount

Cash

Sept.

$289.332

Bond Interest Expense

bonds and amortized the premium

Bond Interest Expense

Unamortized Bond Premium

Unamortized Bond Discount

= $2.580

= $7.668

Paid semiannual interest on 9.2%, 10-year

Cash



Answer (cont.)

31 288.972

8.028

297.000

( x 0,099 x 6 / 12 )  –

( x 0,094 x 6 / 12 )  =

– =

31 124.468

1.801

122.667

( x 0,095 x 4 / 12 )  –

( x 0,092 x 4 / 12 )  =

– =$124.468

20x7

Dec. Bond Interest Expense

Interest Payable

Bond Interest Expense

Cash

To record accrual of 4 months' interest 

Paid semiannual interest on 9.9%, 10-year

bonds and amortized the premium

on 9.2%, 10-year bonds

expense and amortization of the discount 

Unamortized Bond Premium

Unamortized Bond Discount

$6.000.000

$6.148.332

$297.000 $8.028

$1.801

$288.972

$122.667

$4.000.000

$3.930.580

*

**

5.4 · 44

Amortisation (4/6 

of the discount 

applicable for the 

period – Sept.1 to 

Dec.31)

4/6 months of  

interest payable on 

the face value of the 

Mar. 1 issue (Sept.1 

to Dec.31)

4/6 months of  

interest expense 

(Sep.1 to Dec.31) of 

the Mar. 1 issue)



Answer (cont.)

1 62.234

122.667

901

184.000

( x 0,095 x 2 / 12 )  –

( x 0,092 x 2 / 12 )  =

– =

* – $7.668 =

** + $2.580 =$3.928.000 $3.930.580

$6.148.332$6.156.000

$62.234

bonds and amortized the discount for the 

Interest Payable

$3.930.580

$4.000.000

$61.333 $901

remainder of the interest period

Paid semiannual interest on 9.2%, 10-year

Bond Interest ExpenseMar.

20x8

Unamortized Bond Discount

Cash

Amortisation for 2 

months (Dec.31 to 

Mar.1)

2/6 months of  

interest expense 

(Dec.31 to Mar.1)

Accrued interest 

from the previous 

period is paid now






